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Section 1 - Paperl-English Language
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1) Select the correct form of the verb from the given
options.

She is shocked because she an accident.

A) has met with
B) met

C) had met with
D) did meet with

2) Find the most appropriate opposite meaning word:
DEAR

A) Endeared
B) Cherished
C) Esteemed
D) Despised

Read the passage and answer the questions that follow:

A dental hygienist or oral hygienist is a licensed dental
professional, registered with a dental association or
regulatory body within their country of practice. Prior to
completing clinical and written board examinations,
registered dental hygienists must have either an
Associate's or Bachelor's degree in Dental Hygiene from
an accredited college or university. Once registered,
hygienists are primary healthcare professionals who work
independently of or alongside dentists and other dental
professionals to provide full oral health care. They have
the training and education that focus on and specialize in
the prevention and treatment of many oral
diseases.Dental hygienists have a specific scope of
clinical procedures they provide to their patients. They
assess a patient's condition in order to offer patient-
specific preventative and educational services to promote
and maintain good oral health. The use of therapeutic
methods assists their patients in controlling oral disease,
while providing tailored treatment plans that emphasize
the importance of behavioral changes. Some dental
hygienists are licensed to administer local anesthesia and
perform dental radiography. Dental hygienists are also the
primary resource for oral cancer screening and
prevention. Dental hygienists work in a range of dental
settings, from independent, private, or specialist practices
to the public sector. They can also work in residential aged
care facilities. Dental hygienists work together with other
dental professionals, with a higher number working at
general practices with dentists, dental therapists and oral
health therapists. A smaller number work at specialist
practices alongside orthodontists and periodontists. They
help with the contribution of an interdisciplinary approach,
aiming to provide optimum oral health care to their

patients. Dental hygienists also aim to work inter-
professionally to provide holistic oral health care in the
best interest of their patient. Dental hygienists also offer
expertise in their field and can provide a dental hygiene
diagnosis, which is an integral component of the
comprehensive dental diagnosis. Dental hygienists may
also serve as researchers and as educators in dental
hygiene programs.

3) Dental hygienists may also work as

A) Orthodontists
B) Researchers
C) Dentist

D) Periodontists

4) Along with treatment plans, Dental Hygienists also
provide

A) Therapeutic methods
B) Behavioral methods
C) Cathartic methods

D) Psychological methods

5) Once registered, Dental hygienist provide

A
B
Cc
D

Full oral health care
Teeth care

Cavity care

Gum care

6) Dental hygienist are also the primary resource for the
screening of

A) Root canal infection
B) Oral injury

C) Oral cancer

D) Bleeding gums

Techofworld.In
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7) Some Dental hygienists have the license to

A) perform dental radiography

B) suggest oral chemical therapy

C) perform dental surgery

D) perform chemotherapy for oral cancer

8) Find out the most appropriate similar meaning word:
LAMENT

A) Comment
B) Console
C) Complain

) e Techofworld.In

9) What is the plural form of Deer?

A) Deeris
B) Deeres
C) Deer
D) Deer's

10) Select the correct option.

He is first boy from the class to participate in
the race.

A) an

B) a

C) no article
D) the
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Section 2 - Paperl-Education and General Awareness
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11) Which of the following gases is commonly known as
laughing gas?

A) Sulphur dioxide
B) Sodium oxide
C) Carbon dioxide
D) Nitrous oxide

11) GIAUQ 604 TUIY ARIIRE RUES AT A AIES AAFS?

A) g PRAFIeR
B) saigas 2109
C) aiaaie]

D) Qiagq 2919e

12) Which of the following goals from the 1968 National
Policy on Education was claimed to be achieved by
National Policy on Education, 19867

A) Setting up of a school within a kilometer and adoption
of a common education structure

B) Raising educational standards and increased access
to education

C) Safeguarding the values of secularism, socialism and
equality

D) Government receiving financial support from the
private sector to complement government funds

12) QQeim 9RE a9 9geede, 1986 g1 &Sl
dAR6R GUAFIR IRd AR 9geade, 1968 el &9l &
RAFIGS AUIQ 6REE 219 FAIIRE 691 AIF AR AR ARI?

A) @ FEAIAER AUeR AYIRE Aed 9a° ARIGE SR ILAIQ
24 @aal

B) apdal @ geKe 99 9e° 1@l ALe6a JIRS
C) uFiRasa8el ARG 9e° AAIGFIQ JRIEINRI § YAAITH

D) aomi Q6QIR QAKIEEE OIf 2eFoa QIR 65R
AeRIQ1 VEINg IAJAR NS 9F @AQ

Techofworld.In

13) What is the full form of NIEPA?

A) National Institute of Entrance Planning and
Administration

B) National Institute of Educational Planning and
Admission

C) National Industry for Educational Planning and
Administration

D) National Institute of Educational Planning and
Administration

13) ¥R2IRREY @ AR FIF QE?

A) SYASIR AEERYS AT YLIRA JIF° 98 Adtiadn
B) quagim aGdQie & 9geadsim gIa° 18 aIediaq
C) quIQein fa8 aa 1geaania GIF° 1e aefiteads
D) quagim a@8Qie 21T 9g6adaim QIF° 98 2Iefiteaadq

14) Which of the following schemes was set up for
providing quality education to talented rural children?

A) Model School Scheme

B) Universal Primary Education Scheme
C) Rashtriya Madhyamik Shiksha Abhiyan
D) Saakshar Bharat Scheme

14) G 6AIFQ! FUIQ 6266 9918 JIRR FAF FEIR Ja
BAITIR 6291 TR FAIIRRI?

A) acem qm 39

B) ghedin giesaal 4geaaq
C) aig1a Akife dal 26ae

D) aige @iee &6

15) Which Article of the Indian Constitution details the role
of the Comptroller and Auditor General of India, his
appointment, oath and conditions of service?

A) Article 148
B) Article 165
C) Article 178
D) Article 187



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

15) QIQQ1A AFINA 699 LFERIER AR AN B 2B
6R69IN & AF9, OIF 9B, 92 6 6291Q ARTFIYER AERS
287

A) agege 148

B) 2196g@ 165
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Section 3 - Paperl-Reasoning
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16) Instruction: Below mentioned are statements followed
by some conclusions. You have to take the given
statements to be true even if they seem to be at variance
from the commonly known facts. Read all the conclusions
and then decide which of the given conclusions logically
follows from the given statements disregarding commonly
known facts.

Statements:

All mangoes are fruits.
No fruit is flower
Conclusions:

I) No mango is flower

1) All fruits are mangoes

A) Only Il follows

B) Both | and Il follows

C) Only | follows

D) None of the conclusions follow

16) FeR9IART G6Q TR 711 08Q 78 Fad FAARE |
2IEg QURINR| F8G AGY 6QIM FIRFIR 9Fe AT6 G 1l
QARIBGER FEIYRI BEHOIQ BiR CRHIAINAN | ANa Fadq 0]
9e° GI06R F9R G2y, FRIKIRLQI Fad FrIQ 6Q96! ARIRSER
REIEQ G LAQAIRR 2GRl (B4R O] VI6R 2IQURE @9F |
A3QY: Qg 2 9ER TR 6163 TR I 96T |

aad:
1) 6161d 2lIe] GR 6L |

II) Qg 2ig] g6 oa |

A) 6297 1l 2904 999
B) qea I 9a* Il 25968 @03
C) 6aeR | 29A04 @og

)

D) 6q16d @ Fad @ 2908 9ag QIF

17) Instruction:

In the following questions mark:

1, if the question can be answered with the help of
statement | alone.

2, if the question can be answered with the help of
statement Il alone.

3, if the question can be answered with the help of both |
and Il

4, if the question can't be answered at all.
What is the area of the rectangular tennis court?
Statement | : Length of the court is 78 feet.

Statement Il : Two players are playing on the court.

A) 1
B) 4
C) 2
D)3

17) GeadIeqT GRS ggsa
1 526 @0 98 6097 7194 | ALINIER I4e 209 S2INIRAIQE
[

2 9g¢ @, 9% 6a9R A99Y || AE6IT6a g9 Kaal Q2R
AIQE |

3, 40 Q@i | 9e° || A26RIGER Y49 Q8 QRUIKIR QIS |
4, 9% gga 989 6969 & GAIKIR AIGe FIF |

AICRRIR 666 6719Q 6HFTR 67607

A2 | 6RICQ 634 78 g9 621914 |

A2 || : 6QIG6Q 3R K4 63RIA 6SFRT |

A) 1

B) 4

C) 2
D)3

Techofworld In
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18) IFXW =38 XY=49and ZY=57,thenZ:Wis

A) 224 :135
B) 60 : 504
C)135:224
D) 504 : 60

18) 9@ XW=3:8 XY =492QZY =57, Qlglen
Z:W=

A) 224 :135
B) 60 : 504
C)135:224
D) 504 : 60

19) In a certain code language MOUSE is written as
HVXRP. How is EAGLE written in that code language?

A) GNICG
B) ELGAE
C) HOJDH

)

D) FMHBF

19) 9@ QGa Qkede @Eea MOUSE @ HVXRP 6f@
ERHIRIREIN | 69E RUVIER EAGLE G0& 6n¢Ide ?

A) GNICG
B) ELGAE
C) HOJDH
D) FMHBF

Techofworld.In

20) Instruction: Below mentioned are statements followed
by some conclusions. You have to take the given
statements to be true even if they seem to be at variance
from the commonly known facts. Read all the conclusions
and then decide which of the given conclusions logically
follows from the given statements disregarding commonly
known facts.

Statements:

Some soaps are brushes.
Some brushes are pastes.
No paste is shampoo.
Conclusions:

1) No shampoo is brush.

II) No paste is soap.

IIl) Some brushes are soaps.

A) Only | follows

B) Only Ill follows

C) Only Il and Il follows
D) Only I and Il follows

20) F6R4IAR1: 967 PUAIRYR A8 08g 78 FeT GRS |
2Ny GRS AILQYR 994 6QIR ARG 98 9TE Q@ 1l
QARIGEER FEIIZR1 GE0IQ fin 6eHIRIRAN | 208 Fady aeg
48° QIER GAE Gag, FULIRYQ! FED AIQ 6866 AIIGLER
G121 PR ATRA KRS 718947 O] NER AFANE QE |
(1894 @8 AR 6248 92 1 @8 59 6968 69 | 6@16d 608 Qlf
Q6 |

Ged:

1) 6a19d Qi 9Q Q6L

1) 69141 603 AGR q6%

) & 99 6298 A
A) 629 | 2904 @0g

Cc

)

B) 6aaq Il 29904 @93 |
) 629@ Il 99° 11 2G9d 99 |
)

D) 6aa@ 1 99° 11 2@90d @93 |
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21) Select the programme to which NCTE never notified

the revised Regulations and Norms and Standards in the
year 2014.

A) Bachelor of education programme 3-year (Part Time)
leading to Bachelor of Education (B.Ed.) degree

B) Diploma in pre-primary education programme through
Distance Learning System leading to Diploma in
Secondary Education (D.SEd.)

C) 3-year Integrated programme leading to B.Ed., M.Ed.
(Integrated) Degree

D) Diploma in elementary education programme through
Open and Distance Learning System leading to
Diploma in Elementary Education (D.EI.Ed.)

21) 09 AINGIYFY 908 *0F 6ALRIR IRAG ( NCTE)
2014 qd6q QARG AN, FIGGE ¥9° AIGR 26T 56 @R
Qg1

A) QiieonQ BT 1geRaR (9.9¢ (B.Ed.)) @91 qE@GgQl 9
ofiEl QUIEeNE AT IPERAR(AIS F1a9) 691914

B) Geqlirll o] 626aaIa 1g6aas (3. 1q9e (D.SEd.)) 98
@091 9Q d8I QYIEa BEQIAI A] J-gINGAa1 IgERR
69191

C) @ 4 ¥a° 9. ¥g (ANF3) 391 I8 Qb N-ada Ange
QIuge

D) G6qiell AR IREFLIR Ngeads (@. wmde (D.ELEd)) 98
QA9 €19 99° 99 48 QIR SEYINI 8] YRR
4@6RaR 69191E

22) As per Howard Gardner's theory of multiple
intelligences, which among the following options is FALSE
with reference to characteristics of individuals with
Interpersonal Intelligence?

A) People who are good at managing relationships
B) People who understand and easily interact with others

C) People who are good at analyzing their own strengths
and weaknesses

D) People who are good at resolving conflict in groups

Techofworld.In

22) Q18 @ CIEera @8 26ee 9Racl @ dWIe 2gAke
QLRTERIN REER6R] A9 QBFA 64T AW 6@ FIRYS
CRIQ 694 3RE 9N 2667

A) 609 6RIR FIER AT QR OYTIE

C) 609 6RIF Al6e Fea 63 8 9IR0I § F6984 KEI6a AT

D) 60d 6R1a Q166 AF2 60 A @ AARIG FRIEQ AEe
63

)

B) 604 6RI% F1168 QE3 8 AGR AILEA ARY ATS R2IQIE /A3
)
)

23) Kinesthetic learning is also known as

A
B
Cc
D

Hands-off learning
Tactile learning
Passive learning
Micro learning

s e e

23) QIREEITR AT ] 71kl 2R S FUIAN?

A) yeg-ag A&
B) cigem ada
C) aude ade

D) qipeq g

24) Which of the following commissions put emphasis on
'Accelerating the process of Modernization ' as one of the
national objectives of education?

A) The Sadler Commission

B) Indian Education Commission

C) Secondary Education Commission
D) The Mudaliar Commission

24) GeAI9 CRIQ 6RQ FER UYRIIRAY JTUG QRS
AOAIG 6F6Q FVIQ IR NN IR FRE, IR F0RE7?

A) Qigene efee

B) qiao1a 91 afee
C) qrifie dal afige
)

D) geiRaiq afige
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25) In which of the following agencies of education, do

e e B | 0 27) 29 U AV PR AW6R, 1eeE § ens dee
oth the agency and the individual actively participate an = o 5

share in the educative process? TGREY, WelFkip) Swe S@ir g LIS

A) Films A) 9@ g9 QT8 EMNAIER AGRIF ZGEFIYR 6AINSAIT
B) Television NILIQ FR2S

C) Newspaper B) 4@ g4 Q3 6RIATIEE RIY 2TV AT Q IR 9@
D) hicme ceaald

C) 4@ g4 83 cRISFIES 98 A7IL F1I6R AYI9g 2 9o
25) d9I6 69 2RARGEe IR 6REN6R G99 ZIgTIR Ye° 609 QN QG2

QIDEEEY ATA WFER FA ANGER APEgLE 9e° AR 9a& ? D) 9@ g@ @98 RIS A996 ARQIQ 99° AFG VS

gedie eteld
A) aqq
B) sohteq
C) ageag 28) In context to classroom management, what is Echo
technique?
D) g

A) Specific statements which need to be emphasized
spoken louder than normal pitch

B) The teacher speaks louder than normal so that
26) Open schools are opened for those people who ) students underslzand better
; . , C)o tudent ks loudl that entire cl is abl
A) don't like to take education seriously ) ‘Or;gtse:: tsr:h:%grdss zll-:ea?’fljo b
B) belong to the elite class and cannot come to school D) The teacher reads a text and students repeat it over
C) are very busy so cannot come to school

and over again to keep everyone engaged
D) are engaged in job or not able to come to school daily

_ ‘ 28) 6941102 URGIRGTI ARWER, NER| EERRS @4 26T ?
26) 8 GQURA 623716% QIR 6HINVIAE, 6ARFIER

A) o8 QY QIFI YR 699 Y9RIA SILIR ARIRE O 2
A) 831 goRQ A2 Fa8 A8 selesa adal
B) agia 684110 6 InQq AIAIER A2 B) 306 QIGd 09 ZRIG 6R106Q @F6q QIRIFIRI FQuiEiaIce
C) 264s e 6 IR ATAAGER G1§ an AW 98 AIRER
)

D) 6xl6Q 013060 Q48 2183 &g 966e Im ALY AVA 9L8 C) G661 Gauiel 969 6R106Q K29 64 Jal 6941 92969 aR

Q6T Gél QIgee

¢ . D) dge @ eadl O@6ee ¥e° JRuRIe 1eig Qe 9§
27) According to Edward T. Hall's theory, which of the

following options is FALSE with reference to the el eSSBS
characteristics of high-culture context?

A) The people of this culture use strong non-verbal 29) When a student is facing problems in writing properly,
communication the situation is called

B) The people of this culture give more importance to
relationships than tasks

D) The people of this culture demonstrate robust family
and community bonds I

A) Dysgraphia
C) The people of this culture work under tight deadlines, B) Dyslexia
product is more important C) Dyscalculia
D)

echofworld.In
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29) IS 0R @169 6y QR 2QgIq @4 @RI ?

A) QI
B) Gasag ol

C) Gacingmsl Te C h OfWO r

D) Gaoridel

30) Which of the following is NOT a characteristic of an
aggressive child?

A) Becomes frustrated easily

B) Frequently loses his temper
C) Inevitably challenges authority
D) Acts as an arbitrator

30) HINYS F1RICA 696G PR INQ NJE Q6L ?

A) A2R6Q FAIE 621RDS

B) 910168 QUGKS!

C) 2GQIY QIEQ 2RRIRIF 2IFR 622
D) cug @i6 @Iy 289!
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Section 5 - Paperll-Odia Language

31) GRS FUQ 69060 a a 521217,

A) Q619
B) qacm

2= Techofworld.In

32) Q96 Q GRIE TREQ QS BLAQ IAQ 621 JIQE | Q4w
05 409 QIR Q¢ 629 ?

A) Q+RUHGHHEI+R
B) G+g+a+a

C) qrarg+anHe

D) Q+Q+@+B+al+q

33) QIRYEa S6ASY FF T0B YB 62IR TEABE QET NEYS

626m G219 ___ J6694 Q1A ? Q9ge 99 919l gRiaIe
904 29|

A) Q3 QIR

B) G694 o G694
C) Gl QIoa F64a4
D) gqe qlee

34) ‘@RIRI0 QFPAI- QaTa 28 @9 ?

A) g @8al
B) @@l agq 910
C) aricriQ

D) a2l @10

35) 948 QSFINEER QIF! — J0I6Q 690 GeB 621RF ?

A) asen
B) ogelt

C) agen
D) a1

36) @iy Yade KRS F6094 Ueg & S6a94 GRIKN ?

A
B

) 2691 QI9Q
) 996 Qe
C) gie qige
D) g& Qo

37) 'SG9 - A8 906 609 6581a 4R 2657

A) sdlde

C)ge

)

B) saioge
)

D) sdida

38) ‘Qdl 2IGFIR6Q ITIQR AGTG 626M |- YOIER 674 F6F
6LIRE ?

A) geg
B) agm
C) gotan
D) aga

39) GF 99Q JoQ QI J6Q IR U@ QU YRIT 7R §OF 89
J0R FAIFER GIRIg @ §9 gRITN ?

Tachofwaorld In
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40) SORGe AR 2AAS J0q JaR /9 | 45) FIRYS A 6966 ‘92’ 9Ra AdUIARIST 98 ?
A) @a1 A) 601@G1

B) agay B) aaq

C) @gar C) aea1

D) ag D) yoat

41) ' (A99IR) 8" 3 (05 §9) @ @ 94 gLIaN ?

A) ziag
B) ai@auey
C) zeais

s Techofworld.In

42) GORYE FUQ 6960 ‘FIOT F9Q UG &R ?

A) 22101
B) aGer
C) getet

D) &

3) ‘SR QRN - QETR A Q'€ ?

A) ageesn ade
B) gerel o@9l
C) 38 aglal

D) agreia

44) Js+6e9=?
A) Fenlegq
B) dase
C) dass
D)

soces Techofworld.In
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46)IfA={1,2 3,4}, B={2,4,6,8}and C={3, 4,5, 6}
are subsets of the universalsetU={1,2,3,. .., 10}, then
A'U(BNC)isequalto

A) {3456}

B) {2,4,6,8]
C){4,56,7,8,9,10}

D) {1,2,3,4,5,6,7,8,9,10}

46) Q@ A={1,2,3,4},B={2,4,6,8}6C={3 4,5 6} 6298
ghedneas U={1,2 3,...,10}a @962%, 6662 A' U (BN
C) Qgi@

A) (34,56,

B) {2,4,6,8]

C) {4,5,67.8,9,10}

D) {1,2345,6,7,8,9,10}

47) Asha bought 20 litres of milk at the rate of Rs. 30 per
litre. She got it churned after spending Rs. 40 and got 5
kg of cream and 20 litres of toned milk. If she sold the

cream at Rs. 100 per kg and toned milk at 15 per litre, her
profit percent is

47) 24l A9Q del Rs. 30 Qo6 20R50 99 &d6n| 64 12Ig
Rs. 40 915 98 6QIRING! U160 5 606 99 Y8° 9 06a4F 6617 9F
JIREMI K8 69 Aag 6% g1 Rs. 1006Q ¥e° 99 Moa dal
1560 @4 90 606Q Sl ARG 9590 6208

A) 10%
B) 40%
C) 25%
D) 50%

Tﬁf‘l"\f\'F\Alf\l"If‘l II"\

48) Two numbers are in the ratio 3 : 4. If the sum of
numbers is 91, what are the numbers?

A) 75 and 100
B) 40 and 51
C) 42 and 56
D) 39 and 52

48) Q9T °HIQ AGAIS 3 : 4 | I8 A3yl geea 908 91 6569
AYPIYFR @67

A) 75496° 100
B) 40 4g° 51
C) 42 9e° 56
D) 39 9@° 52

49) A book was sold for Rs. 60 with a profit of 20%. If it

were sold for Rs. 52, the percentage of profit or loss would
have been

A) 4%
B) 5%
C) 10%
D) 15%

49) 6461159 @F Rs. 60 QIFER 22% RINEE L PRGN G

gl Rs. 5260 @@ 62IR2IS 6069 AR &F AGQ A
sLlRaIal

A) 4%
B) 5%
C) 10%
D) 15%

50) Eight bells commence tolling together and toll at
intervalsof 2, 3, 4,5, 6, 8, 10 and 12 seconds respectively.
In 30 minutes, how many times do they toll together?

A) 16
B) 17
C) 12
D) 15
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50) 2106 94 9FIQAIGTER Q6T 18° YaAIgen 2, 3, 4,5, 6, 8, 10

MG 12 69604 QURUIFER RIFAINMI 30 Fg6a 6agEe IO
@600 QIHA?

A) 16
B) 17
C)12
D) 15

51) The H.C.F. of two numbers is 13 and the other two

factors of their L.C.M. are 3 and 4. The larger number of
the two numbers is

A) 52
B) 78
C) 39
D) 104

51) QRIT CHYQ 61.41.5 13 9e° 649709 .Q1.9.9 26 9d6R 3
96° 4 | 9RE QY FQ QREN AWl 6998

A) 52
B) 78
C) 39
D) 104

52) If (4/3)x - 5 > x - 2, then the value of 'X' is

A) x=9
B) x=9
C)x<9
D)x>9

52) 9@ (4/3)x -5 > x - 2, 6069 X' Q MY 620F

A) x=9
B) x=9

Clx<9
D) x>9

Tachnfnarld In

53) A square garden of area 400 m? is surrounded by a
walkway of width 'x. The total area of the walkway is 500
mZ. The width 'x' of the walkway is

A)15m
B) 10m
C)5m
D)25m

53) 400 96 A0Q 69QTR 9% YR QTIRIA AMISA SIFAIHER

X' 9RGIA 99 ORITE 2IF | 9@ FRINLR AR 68ETR 500 96
{99 | 9RINE 'X'Q SR 6228

A) 15 figa
B) 10 fica
C) 5 diga

D) 25 fga

54) The value of V1.5625 is

A) 1.05
B) 12.5
C) 125
D) 1.25

54) V1.5625 Q@ qjm4 6208

A) 1.05
B) 125
C) 125
D) 1.25

55) Anil bought two varieties of powders, costing Rs. 5 per
kg and Rs. 6 per kg each, and mixed them in some ratio.
Then he sold the mixture at Rs. 7 per kg, making a profit
of 20 percent. What was the ratio of the mixture?

A)5:2
B)3:5
C)2:5
Dy1:5
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55) 2e1m 98 gR0e deeq @dnl 60 dgl Rs. 5 494° Rs. 6
Q060 9R° 6495 6wIad AGAIGER FGE aml 9Q° ILIEa 6QE
figaq 6aa 981 Rs. 766 83 @@ 20 9840 AR QIR 9@
Fe8Q 29U 9’8 Z@?

A)5:2 _
B)3:5 B D C
' In the given figure, AD is the bisector of BAC, AB =6 cm,
a2 | @ChOTwoOrld.In G it oy
D)1:5
A) 3.5cm
56) Ifa=3 b=-5 x=6,y=12,z= -8, then a® + 24y - B) 11.3¢cm
3b is equal to C)4cm
D)2.5cm
A) 330
B) 320
C) 333
D) 345

56)A@a=3b=-5x=6,y=12 z=-8 6062 a%+ 24y -

3b aqie
A) 330 B D C
B) 320 §210192/91 §96a BAC @ 9196298 AD 268, AB = 6 694, AC
C) 333 = 5628, BD = 3 64¢ 8 ADB=90" 2691 DC Q €15 @9gI
D) 345
A) 35 62
57) Three angles of a quadrilateral are 65°, 92° and 132°. B) 113600
Its fourth angle in degrees is C) 462§
A) 78 D) 2.5 6af
B) 82
C) 80
D) 71 59) A circle passes through the points (3,7) and (5,5). If
the centre lies on the line x-4y=1, then the equation of the
circle is
57) 4R GPUTIC 6990 6 6@k 9F@ 65°, 92° @ 132° 266 A) (x+3)2+(y+1)2=15
291 6@ 21 992 61d 266 B) (x+3)2+(y+1)2=10
C) (x+3)*(y+1)?=100
»» Techofworld.In  oxww
B) 82
C) 8o
D) 71
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59) 9@ 9@ (3,7) B (5,5) Y 69Q dIA 62IRAN| JT 65 X-
4y=1 QJ6Q QLN 66569 9@ Q ANRAE 629 |

e Techofworld
B) (X+3)2+(}’+1)2:10 eC O Wor

C) (x+3)2+(y+1)%=100

D) x2+y2=10

60) If there are 1024 elements in the power set of B, then
how many elements will be there in set B?

O W >
s s O KD

0
2

O

)
)
)
)

60) 9G B Q QI9IQ 6466Q 1024 § QRIS 288, 6969 646 B
6Q 6@6RIT QAIQIR Y67

A) 9
B) 8
C) 10
D) 12

JoinUs-' > f
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61) Nagercoil and Jaisalmer are known for the extensive
use of which forms of energy?

A
B
Cc
D

Wind energy

Solar energy
Nuclear energy
Geothermal energy

— e e

61) QI601Q 6RICAM 6 6FAR 6717 IR AR 694 §8 ML
Q@IS ?

A) gea 4@

)
B) ¢dla 9@
C) 2@ a2
)

D) @ claw 62

62) Who among the following personalities introduced the
Chishti Silsila in India?

A) Al-Hujwari

B) Baba Farid

C) Auliya

D) Khwaja Muin-ud-Din

63) GURYE QARGEe KR RS 6 AYINYER AR
geIa A7ea RIS A2I2RE IS ?

A) @Q16ad 6gieN AgR
B) qire age
)
)

C) eg1a64 Z6giel AR
D) zadieon age

64) Where is the Tropic of Cancer located?

A) 23.5° S of the Equator
B) 23.5° W of the Equator
C) 23.5° N of the Equator
D) 23.5° E of the Equator

64) GFCTE 6RRA0IEA ASFE ?

A) 3ge 60%IQ 23.5 891 @B46a
B) Qge 6adiia 23.5 @91 Qdlasa
C) @ge 60810 23.5 891 Qaa6a
)

D) 3g< 6a4IQ 23.5 891 gL6a

62) FeClRFIgE FUQ @4 AGEER T3 IRl 2R KEEEM? 65) Who among the following was the chairman of a sub-

committee on Fundamental Rights?

A) aR-ge9a A) Pandit Nehru

B) qiel o&q B) Rajendra Prasad
b, D) J.B. Kripalani

D) gi5l (9R-0Q-3]

63) Structures and institutions are BEST examples for

B5) FARGS qug &4 6ARe 2RIQ GER RUER I 1@
which of the following types of resources?

QULFE @ 2D Jem?
A) Renewable resources
B) Human resources

C) Non-Recyclable resources
D) International resources

Toarh~nfianAriA ITn

A) 986 6m6eQ

B) qieeq gaie

C) Q.aie. dkgeaa
)

D) 68.G. QUIRG1
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66) As of January 2019, how many Fundamental Duties

Januz ho 68) FARGS FlIQ A G 6991 IR SRS QIY SRS gelel
are there in Indian Constitution? QI0G1a 26772

A) 10 )

B) 9 A) geagaiel QIRIaT

C) 11 B) a&a qaist

D) 12

C) asigaie 916919

D) ae1geiel SI6aIa
66) QErlie AFL6R NIQSTL AAUINER 6R6SIE 6Fae QeIQy

69) Which of the following was a local tax levied by the

Municipalities on certain articles after they entered their
A) 10 territory?
el A) Customs Duty
C)11 B) Sales Tax
D) 12 C) Octroi
D) Toll

67) Which of the following was a supercontinent found
about 300 million years ago?

69) FIRYE FIG &4 FIRAIFR FIAI FQ 69G6A J6TE PRSI

] s emsi| Sl@ﬁ‘ QUER HIN1E QA MIG Q@&Gﬁl?
A) Laurasia
£ Faniaksse A) QIFll R / 98¢ Bas
C) Gondawana . q
D) Pangea B) 35 @a
C) zqaq
o s i = D) 691m
B7) AIMGE R ERES 9@ JUanderd dml JIele QINIQIY
300 fRag ed gsa fagm?
_ 70) What is the value of the latitude at the equator?
A) aeeadal
B) cirmal A) 45°
B) 0°
Cc
) 9EIaIR| C) 90°
D) aeeraa B)22.5°
68) Who among the following was the first Indian to qualify 70) QYQ 60¢ FRTER AFIPER I 6R6S 62IREN ?
for the Civil Services?
A) Surendranath Bannerji A) 45 B
B) Jatin Mukherjee B) 0 &g
C) Satyendranath Tagore C) 90 &gt
D) Rabindranath Tagore D) 225 &g
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https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App

WtsApp/Call- 8596976190

Join Us-

71) Which of the following gases is mainly responsible for
the greenhouse effect in the earth's atmosphere?

A) Carbon monoxide
B) Nitrogen

C) Carbon dioxide
D) Oxygen

71) 9291 JI6R 49 92 9 G763 Fnge oMY gee Fag
6RE QI FIHY N6 QI 26T ?

A) Q18] 6RIFI0G
B) eoqiq

C) Qieq 29109
D) aq@ie

72) Which of the following instruments is used to measure
earthquakes?

A) Barometer
B) Seismometer
C) Thermometer
D) Bolometer

72) Geqle kIR 6@ ROeRd gfet AIde AR SRR
QQIAIN?

A) qieaIfica
B) saeqicica
C) asdiFica

D) ealenificn

73) Who among the following personalities addresses
both houses of Parliament at the commencement of the
first session after each general election to the Lok Sabha?

A) Vice President
B) President
C) Governor
D) Prime Minister

73) B6E1RAIGT F1UQ @4 I6RIR ARIQE FFIPR T6Q 6RIRANIR
geIA 2J6IIF6R AR ANG T2 AEIRIG FRB?

A) Qa-Quaas
B) augad

C) aiyaim
D) gquiea a1

74) In which year, was Community Development
Programme launched in India?

A) 1953
B) 1952
C) 1951
D) 1950

74) 366118 FIQ 694 RE6A VIGSER 661F1 ARAR FIIGA 2R
621922

A) 1953

)

B) 1952
C) 1951
D) 1950

75) Annie Besant launched the Home Rule Movement
along with

A) Moatilal Nehru

B) Subhas Chandra Bose

C) Mohandas Karamchand Gandhi
D) Bal Gangadhar Tilak

75) 216 6QQle

& 42 6217 R AEARS 2R aGen

A) AR 6529

B) gaia 09 6918

C) 6Q120919 Qa0 G191
D) Qin) aerkia G
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76) Read the following statements and choose the
CORRECT option.

(i) A gamete is formed during sexual reproduction in
microorganisms.

78) Read the following statements and choose the
CORRECT option.

(i) Baculoviruses are pathogens that attack only plants
having dark green leaves.

(i) The gametes of male organisms are called ova. (i) The majority of baculoviruses used as biological
control agents are categorised under the genus
Nucleopolyhedrovirus.

A) (i) is FALSE and (ii) is FALSE
B) (i) is TRUE and (ii) is TRUE N N
C) (i) is FALSE and (ii) is TRUE e IS TUEEnd (I RN
D) (i) is TRUE and (ii) is FALSE B) () is FALSE and (if) is TRU§
C) (i) is FALSE and (ii) is FALSE
D) (i) is TRUE and (ii) is TRUE
76) te) 2396w 9eg 8 A0F G9F 908 493 | —— . s, ASp—
(i) 9I1F6Q GRFR ANAEA @ 65FIC Q& 6QIREN | ) 7] SPSIRQ SR A0g e 20R Gag |
(i) g8 S99 69567 BRI QRIAN | (i) QIQIENNNNAG S 628 TC2UEKRS AL 6197 TlIQ AFS

QEra 98 291 KRegEq dI9A8 908 |
A

B

) (i) 6208 gm @ (ii) 6298 R
)

C)
)

® (i6TR0 FOAE Y64 QIER MLLIR 2RI 2FNE
(i) 6208 09 8 (ii) 628 Ox

(i)

0

QIPIEMNNNL GIFEARNEL6L MR B |
i) 6268 g @ (ii) 62ad O

D) (i) 628 O G (i) 6208 gn A) (i) 6208 0% @ (i) 6208 gm
B) (i) 6298 g G (i) 620@ 0«
C) (i) 6208 am 6 (i) 6268 gn

77) The microorganisms which convert the dead plants ) _ - _
and animals to humus are known as D) (i) 6268 O 6 (i) 628 0@

A) Pesticides 79) When a long spring is stretched by 2 cm, its potential
B) Autotrophs energy is U. If the spring is stretched by 10 cm, the
C) Decomposers potential energy stored in it will be

D) Parasites

A) U/5
B) 25U
A = - C) 10U
77) 99919 G99 €6 Q89 8 gEINIRG g4N1Ae UGEe @6R D) 5U
6 @8 QLIAN?
= 79) 9@ fell 9erg 2 696 941TQ1 6965, 92 6 98 Ul 94
A) cadaiee A)A = gqﬂa _ o i
48 Gerg 10 695 SEITS 6065 126 Y1 o 98 629
B) 2165I6gIer
C) Gaerian A) U/s
D) gieaigs B) 25U
Techofworld.l oo
ecnotrworia.in D
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VU vy v

80) Water rise in a vertical capillary tube up to a length of
10 cm. If the tube is inclined at 45°, the length of water

risen in the tube will be

A) 10 cm
B) 10v2 cm
C) 102 cm

80) I @Re] 6RI8R | AR I8 10 cm Q@ adye AU @60

| 97 @R15q 45° QAR GBYN, 656 FRIER A 6760 RSS!
Qg @097

A) 10 cm

B) 10v2 cm
C) 102 em
D)ocm

81) One man takes 10 minutes to raise a box to a height

of 10 metres and another man takes 5 minutes to do so.
The energy of the

A) first is more
B) two is different
C) two is same
D) second is more

81) @66 43 6015 QIgq 10 fica AeeIq 661 IR 10 fdg

QD B9 49 A 966 Q4B 99 K88 IR 5 FR] AR &I
6ANIRGTR 98

A) gain G are
B) gaf G @a
C) ga& aqie

D) o108 2

82) Which of the following options CORRECTLY
represent "succulent" with respect to adaptation in plants?

A
B
Cc
D

Plant adapted to saline habitat
Plant adapted to aerial habitat
Plant adapted to water habitat
Plant adapted to desert habitat

— N N

EMALAEE 1 s R e

82) afeg@aca 2geRe AQRER FANQ 6795 AR @
@5e 2g adieg?

A) @89 AL 21 9F 2GR 624

B) afe Qieeia 2191a g6 agqe 629

)
)
D) 0 cm TeChOfworld In C:a@@mmamlqg@am@sw

D) @84 c19e 2RI g6 aAgqm 629

83) Which among the following options is the main site of
protein synthesis in the structure of a cell?

A) Lysosomes

B) Vacuoles

C) Ribosomes

D) Golgi Bodies

83) 665N 6RI8Q A°ABR AIEQ G FEgee MIQ 6RAT
69160 A6HIER &Y FID?

A) QIRBIFIA

)
B) calsaiing
C)

)

D

QURERIEFIA
InG o8

84) Which among the following options is a modification
of stem or leaves into thread like shape that is used by
climbing plants for support and attachment?

A) Spines

B) Fleshy leaves
C) Tendrils

D) Thalamus

84) GAIrRIQ 629 F995 Q19 Q1 JGQ YR QUIRA 1Pl 98I OF
2IRIOR 62IR AEITg AR 6 2ITIPENL dIR 9ERIER NLTIR
g g7

+.J echofworld.In

B) aram ag

)
)
C) awl
D) aiqing
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85) A particle starts from rest and has an acceleration of C) 60
2 ms? for 10 s. After that, it travels for 30 seconds with

- D) 10k I
constant speed and then undergoes a retardation of 4 ms- ) 9 e C h OfWO rl d - I n
2 and comes back to rest. The tfotal distance covered by

the particle is

A) 750 m
B) 700 m
C)800m
D) 850 m

85) 60154 @diel AALAIQ 9T AR 2R @aRl 6 10 s AR 2
ms2 @ Qadl gRl | 921 968, ¥ 30 s Ui eS8 6966 SRl
@ 4 ms? Ra6e 9% @dnl | 9e° gat §aeal g 6a 218 |
692 QEQI 6060 QOBI 25GF QGRI?

A) 750 m
B) 700 m
C) 800 m
D) 650 m

86) What is the mole ratio of hydrogen and oxygen gases
liberated during electrolysis of water?

A)1:2
B) 1: 3
G) 2+
D)4 : 1

86) GPQ KEMER, MAQ (FQUE 219A0R) @89 AAYER QIIQ &9
QEFIR 6 AYSINA 67N AP 6REL7?

A)l1:2
B)1:3
C)21
D)4:1

87) A wire can sustain the weight of 30 kg before breaking.

If the wire is cut into two equal parts, each part can sustain
a weight of

A) 30 kg

vee  Techofworld.In

87) @ 0Ia 8891 9@ 30 kg Gae AalF QI6a | 9T 68 0105

Q8 WIS QIFER RIF Ter, J60IR QAT 6R6% BRe AAF
age ?

A) 30 kg
B) 90 kg
C) 60 kg
D) 10 kg

88) When dilute hydrochloric acid is added to iron fillings
which of the following is produced?

A) Carbon dioxide gas and iron chloride
B) Oxygen gas and iron chloride

C) Sulphur dioxide gas and iron chloride
D) Hydrogen gas and iron chloride

88) 6KEEERER SR RNERIERER &), § ARR TFaTER
ARILIN 6068 @6l 7 §4?

A) 2ERQIC, SNIC @ ZIRRR 6QIRIRE

B) aq@ie quQ 6 6qieiae 98 g9

C) anaa 2IR2gIae JuId 6 2INAR 6q/URe
D) aegie g4Id 6 2Ines 6g/aI9e

89) The extension in a string obeying Hooke's law is x.
The speed of sound in the stretched string is v. If the

extension in the string is increased to 9x, the speed of
sound will be

A)9v
B) 3v
C)v/9
D) v/3
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89) 9a= QA9 AIQYQl YR Pl AHAIRE 6268 x | JAIRe
QIR HFQ 690 69Q8 V | U@ QIR ARAREY Ix FQRUILN,
606R AT 6QC 6R6E 6297

>

) Qv
) 3v
) v/

) v/3

o

O
©

Techofworld.In

90) Where does the condensation of protein granules
usually take place in a plant cell?

D

A) Ribosomes

B) Nucleus

C) Endoplasmic reticulum
D) Golgi complex

90) ¥R A0 6RIT6Q ARIAKGS 6aQ AR 69150 FERIGER
QARR 621927

A) QIRERI6RIC

B) quqa

C) w6aIefa 6059ne
D) ond @6tig
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Question Paper No: 53634 74

Answer Key

. A 31.A 61. A
2. D 32.D 62. D TeC
3. B 33.D 63.B
4. A 34. A 64. C
5. A 35.D 65 D
6. C 36.C 66.C
7. A 37.B 67.D
8. C 38.B 68. C
9. C 39.C 69. C
10. D 40. C 70. B
[1.D 41.B 71.C
2. A 42.C 72.B
13.D 43.B 73.B
4. A 44.D 74. B
15. A 45.B 75.D
6. C 46. C 76. D
17.B 47.C 77.C
18. C 48. D 78. B
19. C 49. A 79. B
20. B 50. D 80. B
21.B 51. A 81.C
22.C 52.D 82.D
23.B 53.C 83.C
24.B 54.D 84.C
25.D 55.D 85. A
26. D 56. A 86. C
27557407 87; A
28. D 58. D 88. D
29. A 59.C 89. B
30. D 60. C 90. D
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